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1. RS EROIRIEEIE P
195E 20FE 215E 22FE 23FE
it = 1Y m 12,244 12,920 11,976 10,976 10,979
#®# w ) i 450 606 1,795 1,992 2,074
5 B O® x® = 622 457 1,148 1,329 1,429
H & & 17.029 21,760 26,449 31,173 31,604
(H&EO#%) (1,702,960)| (2,176,013)| (2,644,918)| (3,117,362)| (3,160,412)
i & E L 34,740 39,001 49,477 54,158 56,328
s & 25 28 868,188 883,252 913,346 932,201 961,261
T F KR 5 826,716 826,301 843,570 859,446 881,713
E dH = B 5 91,637 95,423 83,759 89,222 89,581
g M 5 = K = 213,932 240,302 247,189 251,834 258,500
AREEZHEH 478 442 541 590 640
LRHERSEE 199 ( 2.50) |159( 2.00) {159 ( 2.00) | 159( 2.00) | 159( 2.00)
& 111( 1.25) |93 ( 1.00) [{140( 1.00) | 187( 1.00) | 235( 1.00)
EEHSEHE 166 (0.023) [188(0.025) [241 (0.030) |243(0.030) |245(0.030)
B 8 # 78 78 71 79 88
BB CEAREE 16.74 22.75 2543 27.55 27.22
(D WHEERICFEBFRIRRERSIFSETNTLEE A,
FIRDHER v ITEEFXRSDHERE
=Pl 2,500 900,000
881,713
1,892 o 2,000 843,570 e
1,795 850,000
826,716 826,301
- — —_11500
1329 1,429
1.148 800,000
1,000
622 606
— 500 750,000
450 457
B I 700,000
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2. AR

(81 : B .%)

Fri22FE Fri23FE 18R
&8 A INX 3419 3.442 23
BB WS5IF WK 37 35 N
TDMEENT A 179 565 744
2 X8 F & 3,277 4,043 766
(BEHEAEE) (0.40) (0.48) 0.08

1. BEERN=ETERNG - (BEHEEH -SROETERRGER)
2. RIFIGIFN =12 FE5 | H e — RIS IFE A
TDMERIN = ZDMERNE — Z DthEXEH

3.
4. BHEAG =EEBERAIN HRBIG IFI + T DERIN
5. FXREMRR=00n ESBEREETEHS X 100

3. EZERINZOAER

(B8iI : B75F %)

TR22FE TR23FEE
%S FI= FlEb TS FIR FEb
B & 8 A B E 819,090 8.670 1.06 | 833,825 8,299 1.00
DBHAITE 479,623 4,151 0.87 | 486,694 3.856 0.79
O 5EMEES 245,247 2.641 1.08 | 247,734 2,595 1.05
>H58HE 84,463 1,837 2.17 89,261 1.807 2.02
g % i =B 812,313 5251 0.65 | 821,126 4,856 0.59
D B5irE 850,817 5,340 0.63 | 865,157 4,955 0.57
DHEAE 14,564 256 1.76 15,000 250 1.67
e B = fl & P 0.26 0.25

(@1, RESASP=ESERFOD -EFHERME

BTRERME= (ERHEER TSR+ ERASHNR+ ZTOMSHLIER GHAMMAIRE)) +R&E —S#EDE
EERRGER) (EASRERETEES TE+HERE+ZOM (BHERE. TXERDE
%) —HROEFLEAREE) X 100
2. [DB5HI=] [CERRERNEROREHIESEN. [D58E] (CESHAEMENZETNCVET,
3. BEHREEMESOFTOERENOFRIEEDOETERRGENUEERDETERARAGBAZERLTCVET,

4. ZE - SHLFIROERER

(841 - EHM)
L2FEIERHEE 23FEEIG A

2 B A B 201,040 A 371
SHEHE A 149 A 30
B AN 1T74 A 46
JalTE AN T46 A 294

o2 N T = A 1,162 A 394
SHBirE N1 77 A 385
EF® A7 A B

= L 35 & 122 23

BH1. EEEFERFFEENTTY,

2. [D5MITE] [CEREEHEROREFRIEESEN. [DBE] [CEFSIEMEDZTENTNET,

3. B ETOEFERFEERDETER RSB ARREROSHELFSERDIE R T,
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